Lezioni 5 - 6

Disequazioni esponenziali e logaritmiche.

IN AULA.
A) Elementari.
—x | In3
1. 5'=3 S—{—10g5(3)}—[—m}
2. 2'<=2 S=0
3 (1-x) — 1
4. \9">25.5% S=[x<-1]
1\ —
5. =] >4 S={x<-2]
2
6. 5°<-=5 S=40
1 =2x
7 (—) <0 S=0
3
3
8. 2Inx-3>0 g= x>e5}
9. logs(x—2)<0 S=[2<x<3|
10, log, (3x+5)<1 S=[x>—i}
2 2
11. log,(—=1—-x")>4 Dominio=8
B) Non elementari.
1 34x° 1 4x
L (=] == S=[1<x<3]
2 2
2. 3log’x+4logx=0 §={1,—
- 008 8 10310
3. log(x+2)—log(x+1)<0 S=0
4. In(e™)<x’+x-3 S=[x<—-1vx>2|
5. e Vo2 x—3 S=Ix>2}
5 =11 \
6. |In|x|—1|+Inx*<0 S—<7;;)\{OJ

7. 4°=3-2"+2>0 S
8. 5'—4>5!""" S={x>1]



PROPOSTE lezioni 5-6.

Risolvere le seguenti equazioni e disequazioni.

1 302 S=[x<-2Vx>0]

e, 1
2 2.4>Z S=[x>—4|

1\ _
3, (—)25 S=[x=-1]

5

1 —-2x
4. |=] >0 S=R

g
5. log(x—1)>0 S={x>2]
6. 0.25'=3-0.5"+2<0 S=[—1<x<0|
7. 3—3lo5 157 S=[0<x<logs3|
8. Inx—2log e<l S= 0<x<l\/l<x<e2

e
9. log|x|x>x S={0<x<l}
2
10. log, L _jog X=3X+2 S=(=3,—=1)U(2,+)
x—1 7 x+1
11. log|x+1[+loglx-3|<1 S=(1=V(4+e),1-V(4—e)|U(1+V(4=e), 1+ (4+e)]
12. 2°=0"%<16 S=[5<x<21]
4)C Z)C _

13. 12(5) —35(3— +18>0 S=[x<-2vx>1|
14, 2°4247>17 S=[x<0Vx>4]

2°=5 2'+5
15. < S={x>log,5

2°+5 2°-5 [>log:)

1

16. In(2x*=5x+3)<0 S=[E<X<1v <x<2]
17. Inx+In(2x—1)<In(2x+5)+1In3 S=[%<x§5}
18. 1-log,x>1 S=[0<x<1|
19. Inln(x—1)=0 S=[x=e+1]

1
20. log:x+log,x—6>0 S= 0<X<va>9]



